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Fill in the boxes.

@

3 more than 10 is

8 add 6 equals

The total of 7 and 11 is

Altogether 9 and 5 make | i

How many is 7 added to 77

Add 5 and 13 to make

e

8 plus 47 equals

is 30 added to 19.

Which number is 43 add 28?

76 and 5 make altogether.

25 larger than 50 is

is the sum of 55 and 39.

©

46 is the total of 26 and

64 is 7 more than L
t plus 29 makes 91.

Add 40 and to make 73.

The sum of and 9 is 90.

83 equals 46 plus 3

6 plus 9
14 plus 3 i
5 plus 8
8 plus i2
10 plus 0
7 plus 5

Find three one-digit numbers which total:
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BEE

Find three two-digit numbers which total.
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